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PAPER – III 

ECONOMICS 

Note : Attempt all the questions. Each question carries two (2) marks.  

SÔ¨¦ : GÀ»õ ÂÚõUPÐUS® Âøh¯ÎUPÄ®. JÆöÁõßÔØS® Cμsk (2) ©v¨ö£sPÒ.  

1. According to the basic quantity theory of money, increases in money supply will raise 
the   price level but in the long run 
1) The real variables will be affected 
2) The real variables will be unaffected. 
3) The nominal variables will be affected.  
4) The nominal variables will be unaffected. 

Ai¨£øh {v Gs öPõÒøP°ß£i, £n¨ £›ÁºzuøÚ°À HØ£k® AvP›¨¦ 

Âø»ø¯²® E¯ºzv, }sh Põ» AÍÂÀ 

1) ö©´¯õÚ ©õÔPÒ uõUSu¾US BÍõQßÓÚ 
2) ö©´¯õÚ ©õÔPÒ uõUSu¾US BÍõÁvÀø» 
3) SøÓ¢u AÍÂ»õÚ Ai©mh ©õÔPÒ uõUSu¾US BÍõQßÓÚ 
4) SøÓ¢u AÍÂ»õÚ Ai©mh ©õÔPÒ uõUSu¾US BÍõÁvÀø» 

2. Which of the following statements is/are correct with regard to the efficacy of 
monetary policy? 
I. Investment response to interest rate should be larger. 
II. Income elasticity of money demand should be smaller. 
III. Interest elasticity of money demand should be smaller 
1) I and II  2) I and III 
3) II and III  4) I, II and III 

ÂøÍ£¯øÚz u¸® BØÓ¾øh¯ {vU öPõÒøP SÔzu RÌUPõq® ÁõUQ¯[PÎÀ GøÁ 

\›¯õÚøÁ? 

I. •u½miØPõÚ Ámi ÂQu® AvP©õP C¸zuÀ 

II. £nz ÷uøÁ\õº Á¸Áõ´ ö|QÌÄ SøÓÁõP C¸zuÀ 

 III.    £nz ÷uøÁ\õº Ámi ö|QÌÄ SøÓÁõP C¸zuÀ 

1) I ©ØÖ® II   2) I ©ØÖ® III 
3) II ©ØÖ® III 4) I, II ©ØÖ® III 

3. “If all the conditions required to achieve Pareto optimal cannot be satisfied, trying to 
achieve as many of the conditions is possible, does not necessarily increase social  
welfare”. Who, among the following postulated this idea? 
1) Pareto  2) Pigou 
3) K.J.Arrow  4) Lipsey and Lancaster 

£õ÷μ÷hõ B¨iPø» {øÓÄ ö\´¯ AøÚzx ÂvPøÍ²® {øÓÄ ö\´¯ C¯»õÂiÀ 

•i¢uÁøμ GzuøÚ ÂvPøÍ {øÓÄ ö\´¯ •i²÷©õ, AzuøÚ ÂvPøÍ {øÓÄ ö\´uÀ 

\‰P |»zøu AvP›¨£uõPU öPõÒÁuØQÀø» GßÓ P¸zøu •ßøÁzuÁº ¯õº? 

1) £õ÷μ÷hõ  2) ¤öPÍ 
3) ÷P.÷á.B÷μõ 4) ¼¨] ©ØÖ® »[PõUhº 
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4. The velocity of money is defined as 
1) Ratio of GDP to money supply 2) Ratio of GDP demand for money 
3) Ratio of GDP to the price level 4) None of the above 

{v°ß ÂøμÁøÍÄ RÌUPshÁõÖ Áøμ¯ÖUP¨£kQÓx. 

1) GDP ÂQu® : £n ÁÇ[PÀ 2) GDP ÂQu® £nzvØPõÚ ÷uøÁ 

3) GDP ÂQu® : Âø» AÍÄ 4) |õßS® AÀ» 

5. A decrease in the income tax rate has a ––––––––––  effect on labour supply if the     
–––––––––– effect dominates. 
1) Positive : income 2) Negative : income 
3) Negative : substitution 4) Positive : substitution 

Á¸©õÚ Á› Ãu® SøÓ¢uõÀ –––––––––––– öuõÈ»õÍº ÁÇ[P¼À ÂøÍøÁz 

÷uõØÖÂzx –––––––––––– ÂøÍÄ ÷©÷»õ[S®.   

1) ÷|º©øÓ : Á¸©õÚ® 2) Gvº©øÓ : Á¸©õÚ® 

3) Gvº©øÓ : £v½k 4) ÷|º©øÓ : £v½k 

6. Which two of the following situations are most likely to result in 'demand pull'  
inflation? 
1) A rise in investment of 5% with a rise of productivity of 5% 
2) Increases in the rate of savings and the rate of taxation 
3) A rise in the combined value of investment and government spending of 5%  

with no change in productivity 
4) A fall in the rate of savings and the rate of taxation for an economy already 

operating at full capacity 

R÷Ç uμ¨£mh G¢u C¸ÁøPa `ÇÀPÒ ‘CÊÂø\z ÷uøÁ’ £nÃUP ÂøÍÂÀ •iÁÚ? 

1) u¯õ›¨£ÍÂÀ I¢x ÂÊUPõk AvP›¨¦hß, •u½miÀ I¢x ÂÊUPõk AvP›¨¦® 

2) ÷\ª¨¦ ÃuzvÀ AvP›¨¦®, Á›ÂQu AvP›¨¦® 

3) •u½miß Tmk ©v¨¦ AvP›¨¦® Aμ]ß ö\»Ä 5% BÚõÀ u¯õ›¨£ÍÂÀ GÆÂu 

©õØÓ•® CÀø» 

4) ÷\ª¨¦ ÂQuzvÀ \›Ä, •Ê AÍÂÀ ö\¯À£k® J¸ ÁøP ö£õ¸ÍõuõμzvØPõÚ 

Á› Âv¨¦ ÂQu® 

7. The concept of economic growth is: 
1) Identical with the concept of economic development 
2) Narrower than the concept of economic development 
3) Wider as compared to that of economic development 
4) Unrelated to the concept of economic development 

‘ö£õ¸Íõuõμ ÁÍºa]’ GÝ® P¸zuõUP® 

1) ö£õ¸Íõuõμ •ß÷ÚØÓ® GßÓ P¸zuõUPzøu Jzux 

2) ö£õ¸Íõuõμ •ß÷ÚØÓ® GßÓ P¸zuõUPzøu Âh SÖQ¯x 

3) ö£õ¸Íõuõμ •ß÷ÚØÓzxhß J¨¤køP°À £μ¢x£mhx 

4) ö£õ¸Íõuõμ •ß÷ÚØÓU P¸zuõUPzxhß GÆÁøP°Ý® öuõhº£ØÓx 
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8. Which of the following policy-prescriptions for economic growth was suggested by 
Ricardo? 

1) Government's active participation in the economic field 

2) Free trade in commodities 

3) Control over population growth 

4) Regulation of competition 

ö£õ¸Íõuõμ ÁÍºa]UPõÚ ö\´øP ÂvU SÔ¨¦U öPõÒøP°À ›UPõº÷hõÁõÀ 

£›¢xøμUP¨£mhx Gx? 

1) ö£õ¸Î¯À uÍzvÀ Aμ]ß •ußø© £[÷PØ¦a ö\¯À£õk 

2) ö£õ¸mPÎß uøh¯ØÓ ÁoP® 

3) ©UPÒ öuõøP ÁÍºa]U Pmk¨£õk 

4) ÷£õmiø¯ JÊ[S£kzuÀ 

9. The basic logic behind the 'big-push' strategy of development is related to 

1) Internal economies 2) External economies 

3) An optimum combination 4) Both (1) and (2) 

ö£›¯ uÒÐ Âø\ ö£õ¸Íõuõμ A¤Â¸zv ö\¯À vmhzvÀ Ai¨£øh uõz£º¯® 

CuÝhß öuõhº¦øh¯x 

1) EÒ|õmk ö£õ¸Î¯À 2) A¯»P¨ ö£õ¸Î¯À 

3) Ea\ E¯º AÍÄ ÂøÍ£¯ß 4) (1) ©ØÖ® (2) BQ¯ Cμsk® 

10. Which of the following is NOT correctly matched? 

1) Big-push strategy: Paul N. Rosenstein- Rodan 

2) Balanced growth theory: R. Nurkse 

3) Development with unlimited supplies of labour: A. Lewis  

4) Critical minimum strategy: H. Lebenstein 

R÷Ç uμ¨£mhÁØÖÒ Gx \›¯õPU ö£õ¸¢uÂÀø»? 

1) ö£¸®uÒÐÂø\ ö\¯Àvmh®  : £õÀ Gß. ÷μõö\ßìjß – ÷μõhß 

2) \©ßö\´u ÁÍºa]U öPõÒøP – Bº.|ºU÷\ 

3) uøh¯ØÓ £oÁÇ[P¾hß BÚ •ß÷ÚØÓ® – H. ½Âì 

4) ö|¸UPi SøÓ¢u£m\ ö\¯À vmh® : Ga. ö»£ßìjß 



M0403  G 6

11. Which of the following is inconsistent with the Schumpeter's theory of development? 
1) The course of growth is continuous 
2) The output expansion, initiated by the entrepreneur, increases in size with time, 

making it cumulative 
3) Growth takes place on account of entrepreneurs who, with the help of bank 

credit, invest in innovative activity 
4) Capitalism destroys itself by being successful through the erosion of its 

institutions, by the hostility of its intellectuals and other elite classes, and also 
by the weakening of entrepreneurial innovation 

ìP®¥mh›ß ‘•ß÷ÚØÓU öPõÒøP²hß’ RÌUPsh GUTØÖ •μs£mhx? 

1) ÁÍºa] öuõhº {PÌÁõS® 

2) A¤Â¸zv Â›ÁõUP® _¯öuõÈÀ •øÚ÷ÁõμõÀ •ßÛÖzu¨£mk AÍÂ¾®, 

Põ»Pmhzv¾® ^μõPz vμsk ÁÍμa ö\´QÓx. 

3) öuõÈÀ •øÚ÷ÁõºPÒ Á[QU PhÝuÂ öPõsk ¦xaö\¯À£õmiÀ •u½k 

ö\´ÁuõÀ ÁÍºa] |øhö£ÖQÓx 

4) •u»õÎzxÁ® AuÚx {ÖÁÚ[PøÍ AvP›zuÀ ö\¯À£õmiÀ öÁØÔPμ©õP 

Dk£mk Auß AÔÁõÎPøÍ²®, ¤Ó E¯º ÁS¨¤øÚ²®, Áß©¨ ÷£õUQÚõÀ 

Â÷μõvzx _¯öuõÈÀ •øÚ÷Áõμx ¦xa ]¢uøÚPøÍ ö©¼Âzxz uÚuõÚ 

AÈøÁz uõ÷Ú ÷uiU öPõÒQÓx 

12. In Schumpeterian theory of economic development, innovation occur if 
I. Introducing a new commodity 
II. Introducing changes in the organisation 
III. Discovery of a new source of raw material 
IV. Discovery of a new markets 
1) Both (I) and (II) 2) (I), (III), and (IV) 
3) Only I  4) (I), (II), (III), and (IV) 

ìP®¥mh›ß ö£õ¸Íõuõμ ÁÍºa] öPõÒøP°ß£i ¦x ö\¯À•øÓ G¨÷£õx HØ£kQÓx 

GÛÀ 

I. J¸ ¦v¯ ö£õ¸øÍ AÔ•P¨£kzx®÷£õx 

II. {ÖÁÚzvÀ ¦v¯ ©õØÓ[PøÍ AÔ•P¨£kzx® ÷£õx 

 III.    ¦xÁøP Pa\õ¨ ö£õ¸Ò BuõμzøuU Psk¤iUS® ÷£õx 

 IV.    ¦v¯ \¢øuPøÍU PshÔ²® ÷£õx 

1) (I) ©ØÖ® (II) \› 2) (I),  (III) ©ØÖ® (IV)  BQ¯Ú \›  

3) (I) ©mk÷© \› 4) (I), (II),  (III) ©ØÖ® (IV)  \› 

13. Which of the following criteria got the least weight age by the 14th Finance 
Commission while recommending horizontal distribution? 
1) Population  2) Demographic change 
3) Income Distance 4) Area 

£vÚõßPõÁx vmhUSÊ Qøh©mh £QºÂØS¨ £›¢xøμzuÚÁØÖÒ G¢u JßÖ ªPªPU 

SøÓ¢u AÍÂ»õÚ PÁÚzøu¨ ö£ØÓx? 

1) ©UPÒ öuõøP 2) ¤Ó¨¦ CÓ¨¦ ÂQu ©õØÓ® 

3) Á¸Áõ´ CøhöÁÎ 4) £μ¨¦ 
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14. Fiscal Deficit means   

1) Public Expenditure – Debts from source other than RBI 

2) Public Capital Expenditure – Surplus of Revenue Account 

3) Govt. Expenditure – Revenue Receipts 

4) Public Expenditure – Tax and non-tax revenue 

|õmiß {v £ØÓõUSøÓ Gß£x 

1) ö£õxa ö\»Ä – RBI AÀ»õu ¤Ó ‰»[PÎ¼¸¢x ö£Ö® PhßPÒ 

2) ö£õx •u½mka ö\»Ä – ªøP Á¸Áõ´ PnUS 

3) Aμ_a ö\»Ä – Á¸Áõ´ Cμ^xPÒ 

4) ö£õxa ö\»Ä – Á› ©ØÖ® Á›¯À»õu Á¸Áõ´ 

15. Which of the following schemes has a link with the income declaration? 

1) Gold Bond Scheme 

2) MUDRA Scheme 

3) Pradhan Mantri Garib Kalyan Yojana 

4) India Millennium Bond 

RÌUPõq® vmh[PÎÀ G¢u J¸ vmh® Á¸Áõ´ AÔÂ¨¦hß öuõhº¦øh¯x 

1) u[P¨ £zvμz vmh® 

2) •zμõ vmh® 

3) ¤μuõß ©¢v› PŸ¨ PÀ¯õs ÷¯õáÚõ 

4) C¢v¯õ ªÀ»Û¯® £õsm 

16. Assertion (A) : Indirect taxes contribute a major part of the total Taxation Revenue in 
India 

 Reason (B) : These taxes cannot be evaded 

1) Both A and B are true and B explains A 

2) Both A and B are true but B does not explains A 

3) A is true but B is false  

4) A is false but B is true 

EÖv ÁõUQ¯® (A), C¢v¯ ö©õzu Á› Á¸©õÚzvÀ ©øÓ•P Á›PÒ •UQ¯ £[S 

ÁQUQßÓÚ. Põμn® (B) AÆÁøP Á›PÒ uÂºUP C¯»õuÚ. 

1) A, B Cμsk® Esø©, B, A  ø¯ ÂÍUSQÓx 

2) A, B Cμsk÷© Esø© BÚõÀ B, A  ø¯ ÂÍUSÁuõP Aø©¯ÂÀø» 

3) ‘A’  Esø© BÚõÀ ‘B’  Esø©¯ßÖ 

4) ‘A’ Esø©¯ßÖ BÚõÀ ‘B’   Esø© 
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17. Under a managed floating exchange rate system, the Nation’s monetary authorities 
intervene in Foreign Exchange Markets to – 

1) Smooth out short-run fluctuations in exchange rates 

2) Smooth out long-run fluctuations in exchange rates 

3) Smooth out short-run and long-run fluctuations in exchange rates 

4) Keep exchange rates fixed among a group of nations 

{ÖÁÚ® •uß •øÓ¯õPU uß £[SPøÍ ©UPÐUS ÂØ£øÚ ö\´²® £›©õØÓ •øÓUS 

HØÖ©v ÷u\zvß {v\õº AvPõμzvÀ EÒ÷Íõº A¢{¯ £›ÁºzuøÚ A[PõiPÎÀ 

uø»°kuÀ 

1) £›©õØÓ ÂQu[PÎÀ SÖQ¯ Põ» HØÓ CÓUP[PøÍa ^μø©US® 

2) £›©õØÓ ÂQu[PÎÀ }sh Põ» HØÓ CÓUP[PøÍa ^μø©US® 

3) £›©õØÓ ÂQu[PÎÀ SÖQ¯ Põ», }sh Põ» HØÓ CÓUP[PøÍa ^μø©US® 

4) £›©õØÓ ÂQu[PøÍ J¸ SÊÁõPÄÒÍ ÷u\[PÐUS Cøh÷¯ {ø»¨£kzx® 

18. The plan expenditure on Revenue Account of the Union Government includes 

I. Economics services 

II. Social and community services 

III. Grants-in-aid to States and Union Territories 

IV. Loans and Advances to finance public enterprises 

1) I and II are correct 2) I, II and III are correct 

3) I, II and IV are correct 4) I, II, III and IV are correct 

³Û¯ß Aμ]ß ö\»Äz vmh Á¸Áõ´ PnUSU RÌPshÁØøÓ EÒÍhUQ¯x. 

I.  ö£õ¸Íõuõμa ÷\øÁPÒ 

II.  \‰P, SÊa ÷\øÁPÒ 

III. ©õ{»[PÒ ©ØÖ® ³Û¯ß ¤μ÷u\[PÐUPõP EuÂ \õº ©õÛ¯[PÒ 

IV. ö£õxz xøÓ ÁoPz öuõÈ¾UPõÚ •ß£n® PhßPÒ \õº •u½mk {v 

1) I ©ØÖ® II BQ¯Ú \› 2) I, II ©ØÖ® III BQ¯Ú \› 

3) I, II, IV BQ¯Ú \› 4) I, II, III ©ØÖ® IV BQ¯Ú \› 

19. Which one of the following items has the largest share in Indian export in terms of 
US-Dollars? 

1) Electronic goods 2) Leather manufactures 

3) Readymade garments 4) Gems and Jewellery 

RÌPshÁØÖSÒ G¢u JßÖ, C¢v¯ HØÖ©v°À ³ Gì hõ»º ©v¨¤À ªP AvP £[S 

ÁQUQÓx? 

1) ªßÛ¯À ö£õ¸mPÒ 2) ÷uõÀ u¯õ›¨¦PÒ 

3) B¯zu BøhPÒ 4) PØPÒ ©ØÖ® AoP»ßPÒ 
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20. In a freely floating exchange rate system 

1) The current account and capital account add to zero 

2) Each account can individually be equal to zero 

3) Exchange rate is determined by market forces 

4) Exchange rate is determined by the central monetary authority 

uøh¯ØÖ {ÖÁÚ® uÚx £[SPøÍ ©UPÐUS ÂØ£øÚ ö\´²® £›©õØÓ ÂQu 

Aø©¨¤À 

1) |h¨¦U PnUS, •u½mkU PnUS ÷\μUQøh¨£x ë÷μõ 

2) JÆöÁõ¸ PnUS® uß AÍÂÀ §äâ¯zvØSa \©® 

3) £›©õØÓ ÂQu® A[Põi Âø\PÍõÀ wº©õÛUP¨£kQÓx 

4) £›©õØÓ ÂQu® ø©¯ {v ÷©¼hzuõÀ wº©õÛUP¨£kQÓx 

21. India is large exports of tea and a small exporter of bicycles. In this context, which 
one of the following is true? 

1) An export subsidy to tea would improve India's terms of trade in the world tea 
market 

2) An export subsidy to tea would worsen India's terms of trade in the world tea 
market 

3) An export subsidy to bicycles would improve India's terms of trade in the world       
bicycle market 

4) An export subsidy to bicycles would worsen India's terms of trade in the world           
bicycle market 

C¢v¯õ AvP AÍÂÀ ÷u°ø»ø¯²®, SøÓ¢u AÍÂÀ ø\UQÒPøÍ²® HØÖ©v 

ö\´QÓx. RÌPshÁØÖÒ Gx \›? 

1) E»Pz ÷u°ø» A[Põi°À, C¢v¯õÂß ÁoP J¨£¢u Âv•øÓPøÍz ÷u°ø» 

HØÖ©vUSz uμ¨£k® ©õÛ¯® ÷©®£kzxQÓx 

2) E»Pz ÷u°ø» A[Põi°À, C¢v¯õÂß ÁoP J¨£¢u Âv•øÓPøÍ ÷u°ø» 

HØÖ©vUSz uμ¨£k® ©õÛ¯® |¼Ä£kzxQÓx 

3) E»Pa ø\UQÒ A[Põi°À, C¢v¯õÂß ÁoP J¨£¢u Âv•øÓPøÍ ø\UQÒ 

HØÖ©vUSz uμ¨£k® ©õÛ¯® ÷©®£kzxQÓx 

4) E»Pa ø\UQÒ A[Põi°À, C¢v¯õÂß ÁoP J¨£¢u Âv•øÓPøÍ ø\UQÒ 

HØÖ©vUSz uμ¨£k® ©õÛ¯® |¼Ä£kzxQÓx 

22. Which measure cannot check inflation? 

1) Surplus Budgeting 2) Increase in direct taxation 

3) Curtailment in Public expenditure 4) Cheap money policy 

G¢u |øh•øÓ £nÃUPzøuU Pmk¨£kzuõx? 

1) ªøP ÁμÄ ö\»Ä vmh® 2) ÷|μi Á›Âv¨¤À AvP›¨¦ 

3) ö£õxa ö\»ÂÚzøuU SøÓzuÀ 4) ©¼Ä {vU öPõÒøP 
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23. Match List I with List II and select the correct answer using the codes given below. 

 List I List II     

a) Hamilton -List effects 1. Trade creation and Trade diversion. 

b) Marshall-Lerner 2. Infant-industry argument. 

c) F.Y.  Edgeworth 3. Elasticity approach.  

d) Jacob Viner 4. Impoverishing growth. 

Codes : 

 a) b) c) d) 

1) 2 3 1 4 

2) 2 3 4 1  

3) 3 2 4 1 

4) 3 2 1 4 

£mi¯À II £mi¯À II Ehß ö£õ¸zvU R÷Ç uμ¨£mkÒÍ  SÔ±kPøÍ¨ £¯ß£kzva 

\›¯õÚ Âøhø¯z ÷uºÄ ö\´P . 

 £mi¯À I £mi¯À II     

a) íõªÀhß–ÂøÍÄPÎß £mi¯À 1. ÁºzuP E¸ÁõUP® ©ØÖ® ÁºzuPz 

    vø\©õØÓ®  

        

b) ©õº\À – ö»ºÚº 2. SÇÂ¨£¸Á–öuõÈÀ ÂÁõu® 

c) G¨.K´.GmäöÁõºz 3. ö|QÌÄ AqS•øÓ  

d) áõP¨ ÂÚº 4. ÁÍºa]ø¯ ÁÔuõUSuÀ 

SÔ±kPÒ : 

     a)         b)           c)          d) 

1) 2 3 1 4 

2) 2 3 4 1  

3) 3 2 4 1 

4) 3 2 1 4     
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24. Which of the following is not true about recently declared 'foreign trade policy' of  
India ? 

1) Whole export sector will be free from service tax 

2) To get a world trade share of 1.5% by 2009 

3) Ensuring 20% growth per year in export in next 5 years 

4) Export limit reduced to Rs.750 crores from existing  Rs.1000 crores from getting 

'town'  of export excellence standards 

Asø©°À AÔÂUP¨£mh ‘C¢v¯õÂß’ A¯À |õmk ÁoPU öPõÒøP°À RÌPsh G¢u 

JßÖ Esø©¯ØÓx? 

1) •Ê HØÖ©v¨ ö£õ¸mPÐ®, ÷\øÁ Á›°¼¸¢x Â»US ö£ÖQßÓÚ 

2) 2009 CÀ E»P ÁoP ©v¨¤À 1.5% I ö£ÖuÀ 

3) Akzu I¢uõskPÐUSÒ, BskUS HØÖ©v ÂQu® 20% Ãu® AvP›US©õÖ 

ÁÍºa]ø¯ EÖv ö\´uÀ 

4) HØÖ©v Áμ®¦ |øh•øÓ°¼¸US® 1000 ÷PõiPÒ Gß£øu 750 ÷PõiPÍõPU 

SøÓzx, HØÖ©v uμ ©v¨¦ ÂÇõx PõzuÀ 

25. Which of the following is included in 1M ?       

1) Gold 

2) Demand deposits 

3) Saving deposits  

4) Credit cards      

RÌPshÁØÖÒ Gx,  1M  CÀ ÷\ºUP¨£mi¸¨£x? 

1) u[P® 

2) ÷Pm¦Öv øÁ¨¦z öuõøPPÒ 

3) ÷\ª¨¦ øÁ¨¦z öuõøPPÒ 

4) Phß AmøhPÒ 
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26.  If the money supply is :         The interest rate is : 
$100 billion   10%               

120 billion                               8%               

140 billion                              6%               

160 billion                               4%               

120 billion                               2%    

If the interest rate is :        Investment spending is :               

10%                             $10 billion                 

8%                                20 billion                

6%                                30 billion                

4%                                40 billion               

2%                                 50 billion              

Assume that equilibrium GDP is $400 billion, potential GDP is $500 billion, the 
marginal propensity  to consume is 9/10, the interest rate is 8%, investment spending 
is $20 billion, the money supply is $120 billion, and the reserve requirement is 1/10.  
By how much and in what direction should the Central Bank change the monetary 
base?     

1) Increase it by $20 billion             

2) Decrease it by $100 billion 

3) Increase it by $90 billion  

4) Increase it by $2 billion 

Â{÷¯õP® CxöÁÛÀ  Ámi ÂQu® Cx 

100 ¤À¼¯ß  10% 

120 ¤À¼¯ß  8% 

140 ¤À¼¯ß  6% 

160 ¤À¼¯ß   4% 

120 ¤À¼¯ß  2% 

Ámi ÂQu® CxöÁÛÀ  •u½mka ö\»Ä Cx 

10%    $ 10 ¤À¼¯ß   

8%    20 ¤À¼¯ß   

6%    30 ¤À¼¯ß   

4%    40 ¤À¼¯ß    

2%    50 ¤À¼¯ß   

Gvöμv÷μ C¯[S® uõUP[PÐUS Cøh°»õÚ ^μø©v{ø» GDP Gß£x $400 ¤À¼¯ß, 

EÒÍõØÓÀ GDP $500 ¤À¼¯ß GßÖ øÁzxU öPõshõÀ, ÂÎ®¦{ø» Buõμ ~PºÄ 

9/10 Ámi ÂQu® 8% •u½mka ö\»Ä $20 ¤À¼¯ß £n ÂÛ÷¯õP® $120 ¤À¼¯ß, 

øÁ¨¦z ÷uøÁ 1/10 ø©¯ Á[Q°ß £nzuÍ® G¢u AÍÄ ©õÖ®? G¢u vø\°À ©õÖ®? 

1) $20  ¤À¼¯ÚõP AvP›UPa ö\´²® 

2) $100 ¤À¼¯ÚõP SøÓ¯a ö\´²® 

3) $90 ¤À¼¯ÚõP AvP›UPa ö\´²® 

4) $2 ¤À¼¯ÚõP AvP›UPa ö\´²® 
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27.  An increase in the money supply causes :             

1) interest rates to fall, investment spending to rise, and  aggregate demand to rise 

2) interest rates to rise, investment spending to rise, and aggregate demand to rise 

3) interest rates to rise, investment spending to fall, and aggregate demand to fall 

4) interest rates to fall, investment spending to fall,  and aggregate demand to fall 

£n Â{÷¯õP AvP›¨¦ ÷uõØÖÂ¨£Ú 

1) Ámi ÂQu ÃÌa], •u½mk ö\»Ä AvP›¨¦ Jmkö©õzuz ÷uøÁ AvP›¨¦ 

2) Ámi ÂQu E¯ºÄ, •u½mka ö\»Ä AvP›¨¦ Jmkö©õzuz ÷uøÁ AvP›¨¦ 

3) Ámi ÂQu AvP›¨¦, •u½mk® ö\»Ä ÃÌa], Jmkö©õzuz ÷uøÁ \›uÀ 

4) Ámi ÂQu ÃÌa]°À \›Ä, •u½mka ö\»Äa \›uÀ Jmkö©õzu ÷uøÁ \›Ä 

28.  Interim Liquidity Adjustment Facility (ILAF) involved adjustment of 

1) Repo Rates 

2) Reserve Repo Rates 

3) Bank Rates 

4) (1) and (2) 

CøhUPõ» £n©v¨¦¨ ö£õ¸mPÎß øP°¸¨¦a ^μø©¨¦ Á\v (ILAF) RÌUPõq® 

^μø©¨ø£ EÒÍhUQ¯x 

1) ›¨÷£õ ÂQu[PÒ 

2) ›\ºÆ ›¨÷£õ ÂQu[PÒ 

3) Á[Q ÂQu[PÒ 

4) (1) ©ØÖ® (2) 

29.  The commercial loan of banking means that bank should 

1) be  more commercial 

2) restrict their securities holding to those of commercial sector 

3) attempt to sell more commercial assets  

4) restrict their lending to short-term, self-liquidating loans 

Á[Q°ß ÁoPU Phß Gß£x ¯õöuÛÀ 

1) ªSv²® ÁoP¨ ÷£õUQ»ø©uÀ 

2) ÁoP¨ ¤›ÄU÷PØ£ ö\U³›miPøÍU Pmk¨£kzuÀ 

3) AvP ÁoP ÁÍ[PøÍ ÂØP •¯¾uÀ 

4) Phß u¸® •øÓPøÍ AvP SøÓ¢u Põ»U PhßPÒ, _¯-&£n©v¨¦¨ ö£õ¸mPÎÀ 

øP°¸¨¦ PhßPÒ GßÖ Pmk¨£kzvU öPõÒÐuÀ 
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30.  The size of the bank’s portfolio does not depend on 

1) The bank’s reserve position 

2) The existing economic conditions 

3) The total amount of its deposits 

4) The foreign exchange reserves 

Á[Q°ß ö£õÖ¨¤À EÒÍ xøÓPÎß AÍÄ RÌPsh G¢u JßøÓa \õº¢x Aø©ÁvÀø» 

1) Á[Q°ß øP°¸¨¦ {ø» 

2) A¨÷£õøu¯ ö£õ¸Íõuõμa `Ì{ø»PÒ 

3) Jmkö©õzu øÁ¨¦ öuõøP 

4) A¢{¯¨ £›©õØÓ ÷\©UøP°¸¨¦ 

31.  Industrial Act was passed by Parliament in 

1) 1947   2) 1949 

3) 1951   4) 1956 

£õμõÐ©ßÓzvÀ öuõÈÀxøÓa \mh® {øÓ÷ÁØÓ¨£mh Bsk 

1) 1947   2) 1949 

3) 1951   4) 1956 

32.  Industries of basic nature were included in 

1) Core sector 2) Joint Sector 

3) Consumer Sector 4) Co-operative sector 

öuõÈÀxøÓPÎß Ai¨£øh C¯ØøP RÌPshÁØøÓ EÒÍhUQ EÒÍx 

1) •ußø©z xøÓ 2) CønÄz xøÓ 

3) ~Pº÷Áõº xøÓ 4) TmkÓÄz xøÓ 

33.  In sectors like food, chemicals and medicine, process patents are granted under 
Indian Patent Act for a maximum period of 

1) 2 years  2) 7 years 

3) 12 years   4) 14 years 

C¢v¯ Põ¨¦›ø©a \mhzvß£i, EnÄ, ÷Áv¨ö£õ¸mPÒ, ©¸zxÁ¨ ö£õ¸mPÒ \õº¢u 

Põ¨¦›©[PÒ AvP£m\ AÍÂÀ RÌUPõq® BskPÐUS ÁÇ[P¨£kQßÓÚ. 

1) 2 Á¸h[PÒ 2) 7 Á¸h[PÒ 

3) 12 Á¸h[PÒ 4) 14 Á¸h[PÒ 

34.  ‘Dominants Understandings’ covered those which controlled atleast ––––––––––– of 
production or market of product. 

1) 1/3   2) 1/4 

3) 1/5    4) 1/6 

E¯º¢÷uõ[Q¯ ¦›¢xnºÄPÒ EØ£zv AÀ»x ö£õ¸m\¢øuø¯U RÌUPõq® ÂQu 

AÍÂÀ Pmk¨£kzxQÓx. 

1) 1/3   2) 1/4 

3) 1/5    4) 1/6 
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35.  Labour Exit Policy commonly denotes 

(I) Easy Entry 

(II) Easy Exit 

(III) Labour Market Flexibility 

(IV) High Wages 

Codes : 

1) I    II  and   IV 

2) I    II    III   IV 

3) IV   III    and  II  

4) I      II   and   III 

EøÇ¨÷£õº öÁÎ÷¯ØÓU öPõÒøP ö£õxÁõPU SÔ¨£x 

(I) GÎ¯ ~øÇÄ 

(II) GÎ¯ öÁÎ÷¯ØÓ® 

(III) EøÇ¨¦ A[Põi ö|QÌuPÄ 

(IV) E¯º T¼PÒ 

ÂøhUSÔ±kPÒ  : 

1) I    II  ©ØÖ® IV 

2) I    II    III   IV 

3) IV   III  ©ØÖ® II  

4) I      II   ©ØÖ® III 

36.  An Industry whose long run supply curve is horizontal is called 

1) Constant cost industry 

2) Increasing cost industry 

3) Decreasing cost industry  

4) Efficient industry 

J¸ öuõÈÀxøÓ°À }sh Põ» ÂÛ÷¯õP ÁøÍÄ Qøh©mh©õP C¸¨£x G[VÚ® 

AøÇUP¨£kQÓx GÛÀ 

1) {ø»zu öuõÈÀxøÓa ö\»Äz öuõøP 

2) AvP›US® öuõÈÀxøÓa ö\»Äz öuõøP 

3) SøÓ²® öuõÈÀxøÓa ö\»Äz öuõøP 

4) vÓßªS öuõÈÀxøÓ 
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37.  Sustainable economic growth depends upon 
1) Investment, not saving 
2) Saving, not investment 
3) Both saving and investment  
4) Neither saving nor investment 

{ø»¯õÚ ö£õ¸Íõuõμ ÁÍºa] RÌUPshøua \õº¢xÒÍx 

1) •u½k BÚõÀ ÷\ª¨£ßÖ 

2) ÷\ª¨¦ BÚõÀ •u½k AßÖ 

3) ÷\ª¨¦ •u½k Cμsøh²÷© 

4) ÷\ª¨ø£²® \õμÂÀø», •u½møh²® \õμÂÀø» 

38.  Which of the following is NOT considered as a social indicator of poverty? 
1) Lack of transportation 2) Illiteracy level 
3) Lack of access to health care  4) Lack of job opportunities 

RÌPshÁØÖÒ Gx ÁÖø©°ß \‰PU SÔ±k BPU P¸u¨£hÂÀø»? 

1) ÷£õUSÁμzx Á\v°ßø© 2) PÀÂ¯ÔÁØÓÁº ÂQu® 

3) EhÀ|»® ö£Ö® Áõ´¨¤ßø© 4) £o Áõ´¨¦PÒ Cßø© 

39.  How do District Rural Development Agencies (DRDAs) help in the reduction of rural 
poverty in India? 
I. DRDAs act as Panchayati Raj institutions in certain specified backward regions 

of the country. 
II. DRDAs undertake area-specific scientific study of the causes of poverty and 

malnutrition and prepare detailed remedial measures 
III. DRDAs secure inter- sectoral and inter-departmental co-ordination and  

co-operation for effective implementation of anti-poverty programmes. 
IV. DRDAs which over and ensure effective utilisation of the funds intended for 

anti-poverty programmes 

Which of the statements given above are correct? 
1) II and IV  2) II and III 
3) I, II, and III  4) All of these 

Qμõ©¨¦Ó ÁÖø©ø¯U SøÓUP C¢v¯õÂÀ ©õÁmh Qμõ©¨¦Ó •ß÷ÚØÓ •Pø©PÒ 

(DRDAs) GÆÁõÖ EuÄQßÓÚ. 

I. ©õÁmh Qμõ©¨¦Ó •ß÷ÚØÓ •Pø©PÒ ÷u\zvß ]» SÔ¨¤mh ¤ßu[Q¯ 

£SvPÎÀ £g\õ¯zx μõä {ÖÁÚ[PÍõPa ö\¯À£kQßÓÚ 

II. ÁÖø©US Põμn[PÒ, Fmha\zvßø©U PõμoPøÍ¨ £ØÔ AÔÂ¯À §ºÁ©õP 

A¢u¢u Ch® \õº¢u B´Ä ö\´x, Â›ÁõÚ ^μø©¨¦ •øÓPøÍU SÔ¨¤kQßÓÚ  

III. ÁÖø© JÈ¨¦z vmh[PÐUPõÚ TmkÓÄ xøÓPÎß J¸[QøÚÄ Tmka 

ö\¯À£õkPøÍ ]Ó¨£õPa ö\¯À£kzu DRDAs  EuÄQßÓÚ  

IV. ÁÖø© JÈ¨¦z vmh[PÐUPõÚ {v JxURmøh ]Ó¨£õP¨ £¯ß£kzu DRDAs 
EuÄQßÓÚ 

÷©÷» uμ¨£mhÁÚÁØÖÒ GøÁ \›¯õÚøÁ 

1) II ©ØÖ® IV 2) II ©ØÖ® III 

3) I, II ©ØÖ® III 4) AøÚzx® 
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40.  Which one of the following services is included in the service sector of Indian 
Economy? 

1) Transport, storage and communication 

2) Financing, insurance, real estateand business service 

3) All of the above 

4) None of these 

C¢v¯¨ ö£õ¸ÍõuõμzvÀ RÌPõq® G¢ua ÷\øÁ, ÷\øÁ {ÖÁÚzvß ÷\øÁPÎÀ 

÷\ºUP¨£mkÒÍx? 

1) ÷£õUSÁμzx ÷\ª¨¦ ©ØÖ® uPÁÀ öuõhº¦ 

2) {v, B²Ò Põ¨¥k, ›¯À Gì÷hm, Â¯õ£õμa ÷\øÁPÒ  

3) ÷©ØTÔ¯ AøÚzx®  

4) ÷©ØTÔ¯ GxÄ©ßÖ 

41.  Which among the following is NOT included in policy framework of NPP 2000? 

1) Imparting free and compulsory school education above 14 years of age 

2) Reducing infant mortality rate 

3) Achieving universal immunization of children against all vaccine preventable 
diseases 

4) Making family welfare a people centred program 

NPP 2000 öPõÒøP ÁøμÂÀ RÌUPsh Gx Ch®ö£ÓÂÀø»? 

1) 14 Á¯xUS ÷©À C»Á\ Pmhõ¯¨ £ÒÎU PÀÂ uμ¨£h ÷Ásk® 

2) ]_ ©μn ÂQuzøuU SøÓzuÀ 

3) uk¨§] ‰»® uøhö\´¯U Ti¯ AøÚzx ÷|õ´PÐUPõÚ uk¨§]PøÍU 

SÇ¢øuPÒ AøÚÁ¸US® ÷£õkuÀ 

4) Sk®£ |»zøu ©UPÒ ø©¯ªmh vmh©õP BUSuÀ 

42.  Disguised unemployment generally means? 

1) Large number of people remain unemployed 

2) Alternative employment is not available 

3) Marginal productivity of labour is zero 

4) Productivity of workers is low 

©øÓ•P ÷Áø»°ßø© ö£õxÁõP GøuU SÔUQÓx? 

1) AvP GsoUøP°À ©UPÒ ÷Áø» Áõ´¨¤ßÔ C¸zuÀ 

2) ©õØÖ ÷Áø»Áõ´¨¦ QøhUPõø©  

3) ÂÎ®¦{ø»z öuõÈÀ EØ£zv ë÷μõ 

4) öuõÈ»õÍºPÍx EØ£zv¨£o ªPÄ® SøÓÄ 
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43.  Which of the following statement is wrong about Indian agriculture?  

1) Share of agricultural GDP has been increasing 
2) Share of agriculture GDP has been declining 
3) Share of agricultural GDP has been constant 
4) Share of agriculture GDP declined up to 1990-91, thereafter increased 

substantially 

C¢v¯ ÂÁ\õ¯zøu¨ ö£õÖzuÁøμ RÌPõq® ÁõUQ¯zvÀ Gx \›¯õÚx AßÖ? 

1) ÂÁ\õ¯zxUPõÚ GDP £[S AvP›zx Á¸QÓx 

2) ÂÁ\õ¯zxUPõÚ GDP £[S SøÓ¢x Á¸QÓx 

3) ÂÁ\õ¯zxUPõÚ GDP £[S {ø»¯õP C¸¢x Á¸QÓx 

4) 1990&91 Áøμ ÂÁ\õ¯zvØPõÚ GDP SøÓ¢x Á¢x, Auß¤ß Po\©õP AvP›zux 

44.  In India those farmers are called ‘marginal farmers’ who hold the land upto? 
1) 1 hectare  2) 2 hectares 
3) 3 hectares  4) 4 hectares 

C¢v¯õÂÀ C¢u ÂÁ\õ°PÒ ÂÎ®¦{ø» ÂÁ\õ°ß GßÓøÇUP¨£kQßÓÚº AÁºPÍx 

{»zvß AÍÄ 

1) J¸ öíU÷hº  2) Cμsk öíU÷hºPÒ  

3) ‰ßÖ öíU÷hºPÒ 4) |õßS öíU÷hºPÒ 

45.  New National Food Security Mission (NFSM) with an expenditure of Rs. 4,882 crores 
in the 11th plan aimed at ensuring adequate supply of 
1) Rice, Cereals, Pulses 2) Wheat, Cereals, Pulses 
3) Rice, Wheat, Pulses 4) Rice, Cereals, Wheat 

¦v¯ ÷u]¯ EnÄ £õxPõ¨¦U PmhøÍ¨ £o ¹. 4882 ÷PõiPÒ ö\¾ÂÚzxhß 

£vöÚõßÓÁõx vmhzvÀ, ÷£õv¯ –––––––––––– ÁÇ[Pø» EÖv ö\´²® C»UShß 

E¸ÁõUP¨£mkÒÍx  

1) A›], uõÛ¯[PÒ, £¸¨¦ ÁøPPÒ  2) ÷Põxø©, uõÛ¯[PÒ, £¸¨¦ ÁøPPÒ 

3) A›], ÷Põxø©, £¸¨¦ ÁøPPÒ 4) A›], uõÛ¯[PÒ, ÷Põxø©  

46.  What is the targeted amount of credit flow to agriculture in 2014-15? 
1) Around 7,00,000 crores 
2) Around 8,00,000 crores 
3) Around 9,00,000 crores 
4) Around 10,00,000 crores 

2014 - – 15 B® BsiÀ ÂÁ\õ¯zvØPõÚ {ºn°UP¨£mh ÁμÂÚ {v AÍÄ  

1) 7,00,000 ÷PõiPøÍ Jmi¯ öuõøP AÍÄ  

2) 8,00,000 ÷PõiPøÍ Jmi¯ öuõøP AÍÄ 

3) 9,00,000 ÷PõiPøÍ Jmi¯ öuõøP AÍÄ 

4) 10,00,000 ÷PõiPøÍ Jmi¯ öuõøP AÍÄ 
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47.  Minimum Support Price for agricultural products is finally approved by 

1) Union Cabinet  2) Ministry of Agriculture 

3) The Parliament 4) The President of India 

SøÓ¢u£m\ ÂÁõ\¯¨ ö£õ¸mPÐUPõÚ EuÂ Âø» CÖv¯õPU RÌUPsh JßÔÚõÀ 

A[RP›UP¨£kQÓx  

1) ³Û¯ß ÷P¤Úm  2) ÷ÁÍõs Aø©a\P®  

3) £õμõÐ©ßÓ®  4) C¢v¯U Si¯μ_z uø»Áº  

48.  What is the economic cost of foodgrains to the Food Corporation of India? 

1) Minimum support price + bonus paid to farmers + transportation costs. 

2) Minimum support price + bonus + interest cost. 

3)  Minimum support price + bonus + procurement incidentals + charges for 
godowns. 

4) Minimum support price (including bonus, if any) + Procurement incidentals + 
distribution cost. 

C¢v¯ EnÄU PÇPzvØPõÚ EnÄz uõÛ¯[PÎß ö£õ¸Íõuõμ AhUPÂø» Gx?  

1) SøÓ¢u£m\ EuÂ  Âø» + ÂÁ\õ°PÐUS uμ¨£mh FUPzöuõøP+÷£õUSÁμzxa 

ö\»Ä  

2) SøÓ¢u£m\ EuÂ  Âø» + FUPzöuõøP +Ámia ö\»Ä  

3) SøÓ¢u£m\ EuÂ  Âø» + FUPzöuõøP + öPõÒ•uÀ TkuÀ ö\»ÄPÒ + ÷\ª¨¦U 

Qh[SU Pmhn[PÒ  

4) SøÓ¢u£m\ EuÂ  Âø» + FUPzöuõøP  Hxª¸¨¤ß Aøu²® ÷\ºzx+öPõÒ•uÀ 

TkuÀ ö\»ÄPÒ + ÂÛ÷¯õPa ö\»Ä  

49.  TR = 100Q-5Q2  than MR is 

1) 100 -5Q 

2) 100 – 10Q 

3) 100Q – 10Q 

4) 100Q ÷ 5 

TR = 100Q-5Q2  GÛÀ, ¤ß MR C[PÚ® Aø©²®  

1) 100 -5Q 

2) 100 – 10Q 

3) 100Q – 10Q 

4) 100Q ÷ 5 
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50.  In input-output analysis, [I-A] matrix is called 

1) Final demand matrix 2) Technical coefficient matrix 

3) Intermediate demand matrix 4) Leontief matrix  

EÒÏk – öÁÎ±k £S¨£õ´ÂÀ [I-A] AkUP® C[VÚ® AøÇUP¨£kQÓx  

1) CÖv ÷Pm¦Öv AkUP®  2) öuõÈÀ ~m£ SnP AkUP® 

3) Cøh{ø» ÷Pm¦Öv AkUP® 4) ¼÷¯õßi¨ AkUP®  

51.  Which one of the following cannot be called as data? 

1) Cross – Section data 2) Panel data 

3) Engineering data 4) Time series data 

RÌUPshÁØÖÒ Gx uμÄ GßÖ P¸u¨£kÁvÀø»?  

1) SÖUS¨ ¤›Ä uμÄ  2) •Êz uμÄ – P»¢xøμU SÊz uμÄ  

3) ö£õÔ°¯À uμÄ  4) Põ» ÷|μ Á›ø\   

52.  With regard to OLS, which of the following assumption is wrong? 

1) The u is independent of the explanatory variable(s) 

2) The explanatory variables are measured without error 

3) The explanatory variables are perfectly linearly correlated 

4) The macro variables are correctly aggregated 

OLS öuõhº£õÚ RÌUPõq® G¢u P¸x÷PõÒ uÁÖ? 

1) ÂÍUP ©õÔPÎÀ u Gß£x uØ\õº¦øh¯ ©õÔ  

2) ÂÍUP ©õÔPÒ uÁÔßÔ AÍÂh¨£kQßÓÚ  

3) ÂÍUP ©õÔPÒ ªPa \›¯õÚ AoÁ›ø\ •øÓ°À JßÓØöPõßÖ öuõhº¦øh¯Ú  

4) ÷£›Ú ©õÔPÒ \›¯õP J¸[Qøn¢xÒÍÚ  

53.  Cross demand is the change in the quantity demanded to a given commodity in 
response to the  

1) Change in the utility of another commodity 

2) Change in the price of another commodity 

3) Change in the nature of another commodity  

4) Change in the size of another commodity 

Jzvø\ÁØÓ ÷uøÁ Gß£x uμ¨£mh ö£õ¸Îß GsoUøPz ÷uøÁ°ß ÷|¸® ©õØÓ® 

RÌUPshøua \õº¢x Aø©QÓx  

1) ©ØöÓõ¸ ö£õ¸Îß £¯ß£õmkUS ©õÖuÀ  

2) ©ØöÓõ¸ ö£õ¸Îß Âø»°À EÒÍ ©õØÓ®  

3) ©ØöÓõ¸ ö£õ¸Ò C¯À¤À ©õØÓ®  

4) ©ØöÓõ¸ ö£õ¸Ò AÍÂÀ ©õØÓ® 
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54.  Monopolistic competition differs from perfect competition due to 

1) Large number of firms and heterogeneous product 

2) Large number of firms and homogeneous product 

3) small number of firms and differentiated products 

4) only a few firms and similar product 

uÛ¯õº uÛ²›ø©\õº ÷£õmi Gß£x •Ê{øÓÄ ÷£õmi°¼¸¢x ÷ÁÖ£kÁx HöÚÛÀ 

1) AvP GsoUøP°»õÚ {ÖÁÚ[PÒ öÁÆ÷ÁÖ ö£õ¸mPøÍz u¯õ›zuÀ  

2) AvP GsoUøP°»õÚ {ÖÁÚ[PÒ J÷μ ©õv› ö£õ¸mPøÍz u¯õ›zuÀ 

3) SøÓ¢u GsoUøP°»õÚ {ÖÁÚ[PÒ öÁÆ÷ÁÖ ö£õ¸mPøÍz u¯õ›zuÀ 

4) ªPa ]» {ÖÁÚ[PÒ J÷μ ©õv› ö£õ¸øÍz u¯õ›zuÀ  

55.  Which one of the following is not an assumption of Neo-classical’s growth theory? 

1) Perfect competition in commodity and factor markets 

2) Factor payment equal their marginal revenue productivity 

3) A capital – output ratio 

4) Full employment in the economy 

RÌUPshÁØÖÒ |ÃÚa ö\ÆÂ¯À ÁÍºa] öPõÒøPU P¸zx AÀ»õux Gx?  

1) •Ê{øÓÄ ÷£õmi "ö£õ¸mPÎ¾®, BUPUTÖ A[PõiPÎ¾®' 

2) BUPUTÖ £n¨£mkÁõhõ, ÂÎ®¦ Á¸Áõ´ EØ£zvø¯a \› ö\´QÓx  

3) ‰»uÚ – öÁÎ±mk ÂQu®  

4) ö£õ¸ÍõuõμzvÀ •Ê ÷Áø»Áõ´¨¦  

56.  Special Drawing rights are created to  –––––––––– international liquidity 

1) Decrease 

2) Increases 

3) Constant 

4) None of these 

]Ó¨¦ Á[QU PnUS £n® GkUS® E›ø©PÒ \ºÁ÷u\¨ £n©v¨¦¨ ö£õ¸mPÎß 

øP°¸¨ø£ ——————— E¸ÁõUP¨£mkÒÍÚ 

1) SøÓ¨£uØS 

2) AvP›UP 

3) {ø»zv¸UPa ö\´¯ 

4) ÷©Øö\õßÚ GxÄ©ßÖ 
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57. The chairman for the report of the committee on capital account convertibility by 
Reserve Bank of India in 1997 was 

1) Tarapore 

2) Hirshman 

3) Dunkle 

4) Jha 

‰»uÚU PnUS ©õØÖ SÔzu C¢v¯ ÷\©{v Á[Q°ß ‰»uÚU PnUS ©õØÖ•øÓ 

AÔUøP 1997 u¯õ›zu B´ÄUSÊÂß uø»Áº 

1) uõμõ÷£õº 

2) Qºì©ß 

3) h[QÒ 

4) áõ 

58.  Counter trade is 

1) Barter type of bilateral trade 

2) Export and imports are mutually linked 

3) Making money payments 

4) Both 1 and 2 

Gv›øh ÁºzuP® Gß£x 

1) £sh©õØÖ •øÓ D›øn ÁoP® 

2) HØÖ©vUS®, CÓUS©vUS® £μì£μ Cøn¨¦øh¯x 

3) £n¨ £mkÁõhõ ö\´uÀ 

4) 1 ©ØÖ® 2 
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59. WTO is 

I. Agent of the united nations 

II. Weighted voing 

III. Legal Entity 

IV. Rule based 

Choose the correct answer 

1) (I) (II) (III) (IV) are correct 

2) (I) (IV) are correct 

3) (II) (III) are correct 

4) (III) (IV) are correct 

WTO Gß£x 

I. IUQ¯ |õkPÎß •Pø© 

II. ©v¨¦øh¯ ÁõUS 

III. \mh§ºÁ uÛ¨£s¦ 

IV. Âv \õº¢ux 

\›¯õÚ Âøhø¯z ÷uºÄ ö\´P 

1) (I) (II) (III) (IV) BQ¯Ú \›  

2) (I) (IV) \› 

3) (II) (III) BQ¯Ú \› 

4) (III) (IV) BQ¯Ú \› 

60. The criteria for judging efficiency of the agricultural marketing system with regard to 
the physical handling of the goods is known as 

1) Operational efficiency criterion 

2) Pricing efficiency criterion 

3) Distributive justice criterion 

4) Net present criterion 

ÂÁ\õ¯ A[Põi •øÓ°À, ö£õ¸mPøÍU øP¯õÐ® vÓß ©v¨¥mk AÍøÁU PmhøÍ 

Âv C[VÚ® AÔ¯¨£kQÓx 

1) ö\¯À uPÄ AÍøÁU PmhøÍ Âv 

2) Âø» {ºn¯ AÍøÁU PmhøÍ Âv 

3) {¯õ¯§ºÁ £QºÄ AÍøÁU PmhøÍ Âv 

4) ö©õzu TÖ AÍøÁU PmhøÍ Âv  
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61. The difference between production and on-farm consumption is called 

1) Market surplus 

2) Marketed surplus 

3)  Demand 

4) Total supply 

EØ£zvUS® ÂÁ\õ¯ ~Pºu¾US® Cøh°»õÚ ÷ÁÖ£õk 

1) A[Põi ªøP 

2) ÂØ£øÚUPõÚ ªøP 

3) ÷uøÁ 

4) ö©õzu ÁÇ[PÀ 

62.  Which of the following are the recommendations of GATT with respect to agricultural 

sector, causing concern to India? 

1) Forcing the government to reduce the subsidies given to Indian Agriculture 

2) Import three percent of the domestic demand for agricultural products 

3) Requiring the patenting of seeds, forcing the farmers to buy them form 

multinational firms. 

4) All of these 

GATT £›¢xøμPÎÀ ÂÁ\õ¯zvØS›¯ G¢u £›¢xøμ C¢v¯ ÂÁ\õ¯zvß «x 

AUPøÓø¯z ÷uõØÖÂUQÓx? 

1) C¢v¯ ÂÁ\õ¯zxUSz uμ¨£k® ©õÛ¯zøuU SøÓUS®£i Aμø\ {º£¢vzuÀ 

2) EÒ|õmkz ÷uøÁø¯a \¢vUP, ÂÁ\õ¯¨ ö£õ¸mPÎÀ ‰ßÖ ÂÊUPõmiøÚ 

CÓUS©v ö\´uÀ 

3) ÂøuPøÍz Põ¨¦›ø© ö\´x, ÂÁ\õ°PøÍ¨ £ßÚõmk {ÖÁÚ[PÎhª¸¢x ö£Ó 

{º¨£¢vzuÀ 

4) ÷©ØTÔ¯ AøÚzx® 
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63.  A Kissan Credit Card (KCC) scheme was introduced in the year 

1) 2001 

2) 2005 

3) 1998  

4) 1999 

Qéõß ÁμÂÚ Amøh (KCC) vmh® RÌUPsh BsiÀ AÔ•P¨£kzu¨£mhx 

1) 2001 

2) 2005 

3) 1998 

4) 1999 

64.  Disguised unemployment in the agricultural economy in the underdeveloped 
countries is due to 

1) Deficiency of capital equipment 

2) Surplus of effective demand 

3) Deficiency of effective demand 

4) Surplus of effective supply 

©õÖ÷Áhªmh ÷Áø»°ßø© ÂÁ\õ¯¨ ö£õ¸ÍõuõμzvÀ ÁÍº•P |õkPÎÀ RÌUPõq® 

PõμnzuõÀ HØ£kQÓx 

1) ‰»uÚU P¸Â¨ £ØÓõUSøÓ 

2) ªøPz ÷uøÁ°ß ÂøÍÄ 

3) ÷uøÁ°ß ÂøÍÄ¨ £ØÓõUSøÓ 

4) ªøP ÂÛ÷¯õP ÂøÍÄ 

65.  Agricultural Productivity means 

1) Total yield per acre 

2) Total yield per hectare 

3)  Average yield per acre 

4) Average yield per hectare 

ÂÁ\õ¯ EØ£zv Gß£x 

1) JÆöÁõ¸ HUP›ß ö©õzu ÂøÍa\À 

2) JÆöÁõ¸ öíUh›ß ö©õzu ÂøÍa\À 

3) JÆöÁõ¸ HUP›ß \μõ\› ÂøÍa\À 

4) JÆöÁõ¸ öíUh›ß \μõ\› ÂøÍa\À 
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66.  Who among the following is the author of “Crisis of India”? 

1) Ronald Segal 

2) Dostovasky 

3) Karl Marx 

4) Edward Gibbon 

‘‘C¢v¯õÂß ö|¸UPi’’ GßÓ ¡¼ß B]›¯º ¯õº? 

1) ÷μõÚõÀk ^PÀ 

2) uõì÷uõÁõìv 

3) PõºÀ ©õºUì 

4) GmÁºkQ¨£ß 

67.  In the indicative planning 

1) Consumer sovereignty remains intact and democratic 

2) The private entrepreneurs cannot obtain profits 

3) The working of the market forces fail to bring about proper adjustment between 

demand and supply 

4) All of the above 

‘EnºzuÀ’ vmhªh¼À 

1) ~Pº÷Áõº CøÓ¯õsø© _u¢vμ©õPÄ® Pa]u©õPÄ® EÒÍx 

2) uÛ¯õº {ÖÁÚ[PÒ C»õ£® £õºUP •i¯õx 

3) A[PõiPÎÀ ö\¯À£k® Âø\PÒ ÷uøÁ ÁÇ[PÀ Cøh÷¯ •øÓ¯õÚ ^μø©¨ø£U 

öPõnμz uÁÖ® 

4) ÷©ØTÔ¯ ¯õÄ® 
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68.  Write the name of the chairman of the finance commission from the first to four in 
order? 

I. Santhanam 

II. Chanda 

III. Neogi 

IV. Rajamannar 

1) I, II, III, IV 

2) III, IV, I, II 

3)  III, I, II, IV 

4) IV, II, III, I 

•uÀ vmhU SÊz uø»Áº •uÀ |õßPõÁx vmhUSÊzuø»Áº Áøμ°»õÚ ö£¯ºPøÍ 

Á›ø\¨£kzxP. 

I. \¢uõÚ® 

II. \¢uõ 

III. {÷¯õQ  

IV. μõá©ßÚõº 

1) I, II, III, IV 

2) III, IV, I, II 

3)  III, I, II, IV 

4) IV, II, III, I 

69.  Suppose that the price of apples and banana are Rs. 10 and 5 respectively. If a 
consumer currently obtains a marginal utility of 4 and 3 from last apple and banana 
respectively then he/she should : 

1) buy fever apples and more bananas 

2) buy more apples and fewer bananas 

3) buy fewer apples and fewer bananas  

4) none of the above 

B¨¤Ò, ÁõøÇ¨£Ç® BQ¯ÁØÔß Âø» •øÓ÷¯ £zx ¹£õ´, I¢x ¹£õ´ GßÖ øÁzx 

öPõÒÍ»õ®. J¸ ~Pº÷Áõº C¨÷£õx ÂÎ®¦{ø» £¯ß BP |õßS ©ØÖ® ‰ßÔøÚU 

Pøh] B¨¤Ò ©ØÖ® ÁõøÇ¨£Çzv¼¸¢x ö£ÖÁõ÷μ B°ß AÁº/AÁÒ 

1) SøÓ¢u B¨¤ÒPøÍ²® AvP ÁõøÇ¨£Ç[PøÍ²® Áõ[Q°¸zuÀ ÷Ásk® 

2) AvP B¨¤ÒPøÍ²®, SøÓÁõÚ ÁõøÇ¨£Ç[PøÍ²® Áõ[Q°¸zuÀ ÷Ásk® 

3) SøÓ¢u B¨¤ÒPøÍ²®, SøÓ¢u ÁõøÇ¨£Ç[PøÍ²® Áõ[Q°¸zuÀ ÷Ásk® 

4) ÷©ØTÔ¯ GøÁ²® CÀø» 
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70. Long term represents 

I. The time period when all factors of production are constant 

II. The time period which is more than one year 

III. The time period when all the factors of production are variable 

IV. All the above 

1) Only IV is correct 

2) I and  II are correct 

3) Only III is correct 

4) Both  I and IV correct 

‘}sh Põ»®’ ¤μv{vzxÁ¨£kzxÁx 

I. u¯õ›¨¤ß AøÚzxU TÖPÐ® {ø»¯õP C¸UPUTi¯ Põ»Pmh® 

II. KμõskUS ÷©Ø£mh Põ»PmhzøuU SÔUS® 

III. u¯õ›¨¤ß AøÚzxU TÖPÐ® ©õÔPÒ Põ»Pmh® 

IV. ÷©ØTÔ¯ AøÚzx® 

1) IV ©mk÷© \› 

2) I ©ØÖ® II \› 

3) III ©mk÷© \› 

4) I ©ØÖ® IV \›¯õÚøÁ 

71.  Organisational slack means 

1) Inactive organisation 

2) Ineffective organization 

3) Ineffiecient organization  

4) The difference between available resources and required payments 

{ÖÁÚ ©¢u® Gß£x 

1) ö\¯»ØÓ {ÖÁÚ® 

2) £¯ÚØÓ {ÖÁÚ® 

3) vÓÚØÓ {ÖÁÚ® 

4) QøhUQßÓ ‰»ÁÍ[PÒ, ÷uøÁ¨£k® £n® BQ¯ CμshÝUS® Cøh°»õÚ 

÷ÁÖ£õk 
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72.  Transfer earning of a factor is 

1) Minimum amount necessary to keep a factor in its present occupation 

2) Maximum amount necessary to keep a factor in its present occupation 

3) Actual earning of the factor 

4) None of the above 

BUPUTÔß ©õØÓ Á¸Áõ´ Gß£x 

1) BUPUTÔß A¨÷£õøu¯ £¯ß£õmk {ø»°À C¸zuz ÷uøÁ¨£k® SøÓ¢u£mh 

AÁ]¯a ö\»ÃÚ® 

2) BUPUTÔß, A¨÷£õøu¯ £¯ß£õmk {ø»°À C¸zuz ÷uøÁ¨£k® AvP£m\z 

öuõøP 

3) Auß ö©´¯õÚ Á¸Áõ´ 

4) ÷©ØTÔ¯ GxÄ® AßÖ 

73.  What is meant by opportunity cost? 

1) The cost of allocating scarce resources 

2) The revenue lost by missing an opportunity 

3)  The equilibrium price for a scare good 

4) The value of the next best alternative use for a resource 

‘Áõ´¨¦ Âø»’ Gß£uß ö£õ¸Ò ¯õx? 

1) £ØÓõUSøÓ ‰»ÁÍ[PøÍ JxURk ö\´²® ö\»Ä 

2) J¸ Áõ´¨ø£ CÇ¨£uõÀ ö£Ö® Á¸Áõ´ CÇ¨¦ 

3) J¸ A›¯ ö£õ¸Îß Gvöμv÷μ C¯[S® uõUP[PÐUS Cøh°»õÚ ^μø©v Âø» 

4) J¸ ‰»ÁÍzxUS Akzu ]Ó¢u ©õØÖ¨ £¯ÝUS›¯ ©v¨¥k 
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74.  The slope of the “Product Transformation Curve”  measures 

1) Marginal Rate of Product Transformation 

2) Marginal Rate of substitution 

3)  Factor elasticity 

4) None of them 

ö£õ¸Ò ©õØÓ ÁøÍÄ \õ´{ø» \›Ä A»QkÁx 

1) ö£õ¸Ò ©õØÓ ÂÎ®¦ {ø» ÂQu® 

2) £v¼ ÂÎ®¦{ø» ÂQu® 

3) BUPU TÖ ö|QÌÄz ußø© 

4) ÷©ØTÔ¯ GxÄªßÖ 

75. When the demand curve for a commodity is rectangular parabola, a fall in the price of 

the commodity causes total expenditures on the commodity to 

1) increase 

2) decrease 

3) remain unchanged 

4) any of the above 

J¸ ö£õ¸Îß ÷uøÁ ÁøÍÄ }Ò\xμ £õμ÷£õ÷»õÁõP C¸¢uõÀ, ö£õ¸Îß Âø»°À 

÷|¸® \›Ä ö£õ¸Îß ö©õzua ö\»ÂÚ[PøÍ²® 

1) AvP›US® 

2) SøÓUS® 

3) ©õØÓªßÔ C¸US® 

4) ÷©ØTÔ¯ GxÄ® AßÖ 

————————
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